




22.38 m

1
6.

0
0 

m

Sumbu Y

Sumbu X



5.00 m5.00 m

8
.0

0
 m

6
.0

0
 m

Rad
iu

s 
= 

8.
00

 +
 6

.0
0 

= 
14

.0
0 

m

R = 14.00 m

Pusat     Besar

Sumbu Y

Sumbu X
Pusat    KecilPusat    Kecil



5.00 m5.00 m

8
.0

0
 m

6
.0

0
 m

Rad
iu

s 
= 

8.
00

 +
 6

.0
0 

= 
14

.0
0 

m

R = 14.00 m

Sumbu Y

Sumbu X

Pusat     Besar

Pusat     Besar

Pusat    Kecil Pusat    Kecil



22.38 m

1
6.

0
0

 m

R = 14.00 m

R =
 6

.1
9 

m

Pusat     Besar

Pusat     Besar

Pusat    Kecil Pusat    Kecil

Sumbu Y

Sumbu X



22.38 m

1
6.

0
0

 m

R =
 6

.1
9 

m

5.00 m5.00 m

8
.0

0
 m

6
.0

0
 m

R =
 6

.1
9 

m

R=8
.0

0+
6.

00
=1

4.
00

 m

R = 14.00 m

Sumbu Y

Sumbu XPusat    Kecil Pusat    Kecil

Pusat     Besar

Pusat     Besar



Sumbu Y

Sumbu X

Pusat     Besar

Pusat    Kecil

Jalanan

R =
 6

.1
9 

m

R = 4.79 m

1.40 m

R
 =

 1
4

.0
0 

m

R = 12.60 m

1.40 m



22.38 m

5

4

3

2

1

6

7

8

17
16

15
14

13
1211109876

5
4

3
2

1

40°

50
°

1
00

°

1
00

°

90°

Pusat
    Besar

8
.0

0
 m

8
.0

0
 m

1
6.

0
0

 m

5.00 m

6
.0

0
 m

R= 12.60 m

Pusat
   Kecil

R= 
6.

19
 m

15
 c

m

0.
20

4.79 m

1
4.

0
0

 m8
.3

9
 m

partisi
tebal 15 cm

kisi - kisi
tebal 20 cm

8.39 m/ 8 =
104.87 cm

(per segmen)

17.51 m/ 17 =
103 cm

(per segmen)

17.51 m

7.
81

 m

6
.0

0
 m

Jalanan

10
5 

cm






	A 01
	A 02
	A 03
	A 04
	A 05
	A 06
	A 07
	A 08_3D dengan Keterangan

